i ld 512500 have to by + .
o How jong Wou | tq ' e deposited mnum, Find hoy l & |
¥ . Gir sumpie anerest o gam S750 ACOTOCT e anileres) Susan
- o per ) y W n g !
: nqh' |I1||.'I!h""-| I h”“LhI TEONe I e ‘lr'i“"”l.ll S640) i the |
=1t} ank tor 6 months al the pew nterest rale
: at Rogel 4l for T months A .
U“th“l 1:1 this It..'lhql Roger had 1o 11-'1‘: . :““ o L Y e & S,
. Wi i £ : L] o3 3 '“-.".'l,‘p w - K . -
TL I:'._-u an interest of $11Y. What was the y o Bich puid simple intorest at  rate of ..
Al - : ) o
ELLs ol simple INLEICSE per anhim ! 4 £ PEr annum 1o s investors. Afer 2 years [
tapn Ve James put 3600 in a bank at the rate was increased 1o 7.6% per annum
4 certan YCir, . ‘ Fi
il e ind the am 9 . g g By
F jh . end of March and 5400 in the same bank TIGIA ARE o Al s o0 o 7 sy
the

{ the end of June. The bank offers 3% per
i

o nll‘ﬂpl‘: interest rate. Find the lotal
i it James recerves from the bank at

10. Mr. Chen deposits a certain sum of money in

I abank. If the interest rute of the bank decreases
thi
;mmum . :

"December in that ye: 3 =G : % cer ;
the end of December i il year. from : i per annum to 3 —% per annum,

Mr. Chen’s interest will decrease by $50 in a

ok increased the rate of interest, which it . . . |
e year. Find the sum of money he deposits.

P"“‘J (o depositors from 3.5% to 4% per

Compound Interest

The interest is not always calculated based on the original principal. Suppose John deposits $2000 in his
savings account in a bank for 2 years at 5% per annum and the interest due to him is calculated as

follows:

$2000 x 5
First vear: P=5S2000,R=5T=1.1= e = $100.

S2100 x 5
Second year: P =$2000 + $100 =$2100, R=5.T=1.1= = =$105.

The total interest for 2 years = $100 + $105 = $205.
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i used to obtain the interest due to him at the end of the second year.

The otlinteest of $205 is called the compound interest and the sum $2000 is said to be deposited at L
fompound interest compounded annually.
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din) u=0bh=-4
(b) x=12,y=48
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Exercise 6b

1. () 4%
th) 525 000, S40 000

2. (m) () SAS0° (i) S540
(b) 20%

I (n) %588 th) $32 400 (00
(c) 54 536000, S20 088 000,

55 B32 000, $1 944 000

4. (a) 6days {hy 40%

3. 123008 tonnes

6. 36000, $43 200, S88 80O, 8S.8%

T (a) $134640  (b) 19.9%
8. (a) 23.0% (h) 1.97%
9. (c) B8.7% (d) 1998
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L. (a) S6720, 518 720
(b) 4 yrs, §720
(e} $300, 5408
(d) 4%, 54200
(e) $3600, 5%
() 7. 519849
(g) 6%, 540

(h) $1200. 12 yrs
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2. (a) 521
3, (a) (i) $236
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4 {n) (1) 563
(b} (i) 5200

{e) (B 75

5 (al 53716.80
fe) 16.15%

6 (o) 18.2%
le) 5.13%

Exercise 67

L. () 5$738.90
g1 S81630.40
(e) S§974.88
(g) S$430.32
i) S%724.48

2. (a) LIS$4513
(e) NZ$4545
o) 167 224P
(g) 28211¥
(I A%988

3. (a) 61148

' - 4. (a) €464

5, (a) USS5000

6. N75852
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L. §1312
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4. "3

6. 4%
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1
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() IB%

ib) (i1 $517.50GH 15%

{ify 22.5%
(ify 7%
(il 15%

(in m%rﬁa
(h) %316.80

{h) §108

(h) SH8BOS
() S561.71
(H 55993

(h) 5529 456
(j S8151.20
(h) £295

(d) 67578

(f) 1319648Rp
(h) RM1933
() HKS10280
() US$39.67
(h) £639.31
() SS80

3. $161.86

4 (n) $216
le) %3916
5. (a) $1201.60

iy LUK
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_ L. 563461
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« 13 S2WS. 5820

(h) 52635

8. 547,23 5%

9. LS5037

10, 51698553

1L, No. Only $179.34

12, (a) 25.579% (hy 5449 million
13. 525.75 million

Exercise 6i

1.7 2. 20 cents
X 221412 417
5. ll_lr

6. Break even

7. Less than: before the pay cul by

I
21—,

4

8. Its finul aren was less than its

original area by 45
9. H0 books
10, $2.70, 125 files
11, $18 500 i A, $5500 ot B.
12, 10k s

Review Questions b

1, 10000
2. 250000
3, (u) S900
4, %200, 5240
g, Loss $2.40
h. 5579 gu1.30
7. (@) $6000, 14.3%
(b} 3700, 153%
(e) $5773
8. (a) S2RUN £2852, §4001, 52139
(h) X: $5332, £ 399 5418
1, Nodifference i order
10, §5309.14
11, $17920. §7680, $14 400
12, 510 100

(b} 1170
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{h) Sthduy
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L (a) 4pm by 3 km
| le) 2o 230 pm
() 22km (&) | = hours

| 2 (@) 3 minutes (b) 10 Km

e} 20 kmfh (d) 40 kmih
{e) 6l km n 1330
|3 (a) OB 24 by 40 km
| {ch B kmi/h (d) | b 12 min
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1
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| i 5l T kmih
4. (a) 1436, 25km/
| (b) 1530, _uli km/h

| (g} 44 Km
| (@) about 16 50
| {Iﬂ X, | houn
iy 100 km
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iht 70 km

5. 531‘ kel (b) §BOKm

{c) shout 10,43 am

(d) 92 km (e} 12km
(N Lano, 30 a0

\ {g) 60 km/h
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2, (I iy 41 kmh
{kiy 39 km/h
(Hii) 104 kmih
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| (i) 1 seconds
(i) 23 seconds
3, (my (0 1350 (i) O]
Wiy 750  (iv) 150
‘ {v) 90
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